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PHILOSOPHY — HONOURS
Paper : CC-8
(Western Logic — I)
Full Marks : 65

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

1. Choose the correct option (any ten) : 1x10

(a) An argument is valid if
(i) the premises must be acceptable.
(i) the conclusion must be acceptable.
(i) the conclusion necessarily follows from the premises.
(iv) (i) and (ii) both.
(b) An affirmative categorical proposition does not distribute its
(i) predicate term (i) subject term

(ii)) Both (i) and (ii) (iv) None of these.
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(c) The obversion of ‘Some S is not P’ is

(1) Some non-S are not non-P (i) Some S are non-P
(iii) All non-S are P (iv) No S are non-P.
(d) If A proposition is false, what will be truth value of the corresponding E proposition?
(1) True (ii) False
(iii) Undetermined (iv) None of the above.

(e) The figure of a categorical syllogism is determined by :
(i) The position of the major term. (i) The position of the minor term.
iii) The position of the middle term. iv) By the Copula.
(iif) p y p
(f) The Boolean interpretation of the proposition ‘All non-S are non-P’ is—
(i) SP=0 (i) SP#0
(iiiy SP=0 (iv) SP=0.
(g) Which fallacy is committed in a standard form categorical syllogm, if a term is not distributed in a
premise, but distributed in the conclusion?
(1) Fallacy of four terms (i) Fallacy of ambiguous terms
iii) Fallacy of undistributed middle iv) Fallacy of illicit major/minor term.
y y ]

(h) Which of Mill’s inductive method has been applied in the following schematic example?

Antecedent Consequent
ABC Xyz
ATBC xtyz
ATTBC xtyz
.. Aand x are causally connected.
(i) Method of Residues (i) Method of Concomitant Variation
(i) Method of Agreement (iv) Method of Difference.
(1) What is the probability of getting either ‘3’ or 5’ in rolling a die?
L1 .1
® P (i1) 3
o 1 .
(iii) B (iv) None of these.

() If this syllogism does not commit the fallacy of affirming the consequent, then it is valid. This
syllogism is valid because it does not commit the fallacy of affirming the consequent.

This argument
(1) is valid.
(i) commits the fallacy of denying the antecedent.
(iii) commits the fallacy of affirming the consequent.
(iv) None of the above.
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(k) Which relation of opposition of proposition holds good in modern logic?

(i) Contrary (i) Contradictory

(iii) Sub-contrary (iv) Sub-alternation.

() How many kinds of enthymemes are there?

(1 Two (i) Three

(iii) Four (iv) Five.

2. Answer the following questions briefly (any five) :

(a)
(b)

(c)

(d)

(e)

€]
(@
(h)

(b)
(c)

Explain the categorical propositions in terms of class-relationship.

5%5

Are two propositions necessarily contradictory if one is true and the other is false? Justify the

answer.

Supposing that I and O propositions have existential import, how much of the Traditional Square of

opposition will remain? —Explain.

In which step/steps does existential fallacy occurs in the following chain of inferences and why?

(1) It is false that, some mermaids are poets
(i) It is false that, some poets are mermaids

(i) It is true that, some poets are not mermaids.

What is the difference between mixed hypothetical and mixed disjunctive syllogism? Determine the

form and test its validity :

(i) Either today is Monday or today is Tuesday.

(i) Today is Tuesday. Therefore today is not Monday.
What is an enthymeme? Give an example of a third order enthymeme.
Discuss any two criteria used for the appraisal of analogical arguments.

Explain, with example, the product theorem of calculating probability.

Answer the following questions (any two).

Translate the following sentences into standard form categorical propositions :

(i) All men sometimes err.
(i) He who wants to succeed must work hard.
(iii) Only fools think the fools great.
(iv) Poisonous snakes exist.
(v) Not all is gold which glitters.

Why is the predicate term of a negative proposition distributed?

Why do the modern logicians not accept contrary opposition as valid opposition?

1x5



(7) [ T(4th Sm.)-Philosophy-H/CC-8/CBCS ]

4. (a) What is an empty class? What is its significance in Boolean interpretation of categorical propositions?

1+2
(b) Represent in Boolean equations and Venn Diagrams : 2+2
(i) All men and only men are intelligent.
(i) David Hume is an empercist philosopher.
(c) Test the validity of the following arguments by means of Venn diagrams (any two) : 4+4

(i) None but the good are to be envied. All truly wise men are good. Therefore, all truly wise men
are to be envied.

(i) All who are frequently intoxicated are undependable; so all who are dependable, are
non-alcoholics, since all alcoholics are frequently intoxicated.

(iii) IAl-in the second figure.
5. Explain following Copi, Mill’s joint method of Agreement and Difference. Does this method discover
and prove the causal relation? Give reasons for your answer. 10+5

6. Answer the following (any three) : 5x3

(a) What is the probability of rolling three dice so that the total number of points that appear on their
top faces will be 3°?

(b) A dentist’s chamber has five entrances. Four patients reached there at the same time. What is the
probability that the four patients would enter into the chamber using the same door?

(c) There are 5 red, 10 white and 15 black balls in a box. What is the probability of getting three balls
of same colour in three successive draws of balls from the box, if the drawn ball is returned before
drawing the next ball?

(d) What is the probability of getting three aces in three successive draws from a deck of cards, (i) if
the cards drawn are replaced before next drawing? and (ii) if the cards are not replaced?




